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The mean proportional between 0.02 and 0.32 is

A 03 B 0.08

(C) 0.16 ' (D) 0.34

0.02 wpmid 0.32-6ir symaf eNdssens seirHily.

A 03 | (B) 0.08

© 016 s | D) 0.34

“The number divisible by 3 is

(A) 1486079821 : (B) 2222222222
(C) 3333133331 ' W1212121221
3- <60 QUEGLILEnlq 1L e

(A) 1486079821 ) (B) 2222222229

(C) 3333133331° : (D) 1212121221

The HCF _and LCM of two numbers m and n are 6 and 210 respectively. If m + n = 72 then

1 }
— + 1 1s equal to

nt 1
1 9
Gy =
@5 v 35
3 5
C —- B
© 35 © 37

m wpmbd n gdu @ eramsailen W.CAumel. wHmnb W.E.b. g pepCGu 6 WwHmLD 210-;0,;1,‘35

: .1 1 .
2 ereng), Gogd m +n = 72 a;rgaﬂsu . + dy ~&(% FLOLDTGIG) THI?

: 1 2
A S B Chee
(A) = (B) =

' 3 5
C — ™y
©) = (D) -
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4. IfA:B=2:3B:C=4:5C:D=6:7thenfind A:B:C:D
(A) 16:22:30:35 (B) 16:24:15:35

Ml@:m:'go:sa | (D) 18:24:30:35

A:B=2:3B:C=4:5C:D=6:7cafleoA:B:C: D gran

(A) 16:22:30:35 (B) "16:24:15:35
(C) 16:24:30:35 o (D) 18:24:30:35
5. After spending 40% on machinery, 25% on building, 15% on raw material and 5% on

furniture, a small scale industry owner had a balance of Rs. 1,30,000. Total money with him -
(in rupees) was :

(A)  7,39,500 MS 70,000

() 17,56,900 - . (D) 7,22,500

@ Apepsed(  dsmipsraoudar @sorell  Qorgs  Gsramsudia  40%-sms  @uibSr
AurparsEpssTsa|b, 25%-5ms sl sHbsrsa|b, 15%-smg gpeolidunml sar aurmiseibd, 5%-5m5
r&sTorens@Epsarsayd swaflss Blenauile LS&'LD 1. 130 500 evauggieremmit erefle, <eurr
eneus S abs Gnrss Clsreansw meng ‘

(A) 7,389,500 : (B) 8,70,000
(C) 756,900 . (D) 17,22,500.
6. Find the C.I. on Rs. 15,625 at 8% p.a. for 3 years compounded annually
W 4058 (B) 4508
(C) 4500 (D) 4048

arumi 15,625-8@ e eul_iy 8% erafla, 3 a__g@nﬁrr@&@é@ gal_(Heully Sremrald
(A) 4058 @) 4508
(C) 4500 . : (D) 4048

The sum of three consecutive numbers is 87. Find the greatest number
(A) 26 ¢ o g (B) 28
© 29 - NP 30
pern 2 HSsHSs cramsaflen snBse 87. Sieundled QUi ereimenenTd sreamT.

A) 26 ' . ® 28
C) 29 | _ (D) 30

~a
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8.  If30% of (B - A) is equal to 18% of (A + B) then the ratio A : B is equal to

9.

2 10.

!

a |
ol

W 14 ®B)

@& 18 . _ (D)

(B - A) -an 30%-1b, (A + B) -éi 18%-1> swoid eraflled A : B-wnang eTsMH@ gwon.

@A) - 1:4 (B

€ 1:2 L *h

30% of x is equal to 60% of y then x : y is

@ 1:2 - v(z;

(@) 30:60 | D) 3:6

x -an.30% eramug) y -uler 60%-He@ st erefled x 1 y =

A 1:2 | R e S ¢ 5))

(C) 30:60 : (D)

g (162x162) - (18 x 18)

Simpli

PR 144 - _

\'9/ 180 ' (B)

(©) 150 ' IR ()]
. (162 x162) — (18 x 18)

&@5@5 . 144

A 180 (B)

(C) 150 : ' w x, Boll)

4:1

9 1

4:1
el

o
—

160

170

160

170
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11. Simplify :

(A) 169 . : 50

38 37
> ; : Dy I
© 1 L
&@5}3@5
[=redlw ez~
—x=|+|=%[===
3 4) |5 \2" 4
45 AL - b9
2 By 422
@ 1g L
© 138 o 1%

71 ' : 28

12. 20 litres of a mixture contain milk and water in the ratio 5 : 3. If 4 litres of this mixture are
replaced by 4 litres of milk, the ratio of milk to water in the new mixture will become

A 2:1 . B) 6:3
W  7:3 (D) 8:3

aff 20 eflLim &@mauuﬂd; LITGY LoHMID g,sﬁurém‘?r’r pergl b 1 3 eretp elldlssH HewbgIdTeren, D mHH)
4 it seveneusE udleors 4 el Lime Gscfré;aslﬂul'_l_rreb @iy HSw semeiudedr o drer Lmd

wHmLD sewrentilen eSS erevmen?
A 2:1 ' B) 6:3
© T7:8 D) 8:3

13, If the lengths of the sides of a triangle are 11 em, 60 cm and 61 ¢m, then its area is
(A) 660 sq.cm W 330 sq.cm '
(C) 145 sq.cm” | (D) 310 sg.cm

@ p&Canansder usahad 11 Qg.85, 60 Qg.l8 whmb 61 Qg5 erafld SIHET LITLILICTEY ETELIg)
A) 6605058 | (B) -3305@s.8
(C) 145s5Qs.8 (D) 310&#.Qs.18
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14.  The Jallian Wéla Bagh Massacre occurred in
\&7” On 13 April 1919 A.D. . (B) On13May 1920 A.D.

(C) On18April 1921AD. (D) On 20 June 1919 A.D.

‘soredlwen eurerung’ uREsT® THS eH FeL-AubHnG ?
(A) 13, gripé 1919 A.D. (B) 13,Cw 1920 A.D.
(C) 18, grigéd 1921 A.D. D) 20, gOar 1919 A.D.

15. In 1861, the Indian Civil Service Act was passed by whom?

(A) Lord Warren Hastings

W Lord Canning

(C) Lord Wellesley
(D) . Lord William Bentinck

1861-1b aia@riq e ‘@idl Glgemols L)’ &Ll;ﬁéssm“gs Qe () eubsHeT mwﬁ?
(A) curryen Gameiig Bie L |

(B) srefii Qgy

(C) Gmd;@mdué&] gy

D)  eNevedlubd Quiairg i Dy

16. Which National Leader was known as ‘Deshbandhu’?
(A) TRajendra Prasad (B) T. Prakasam
\{,G(. Chittaranjan Das * (D) Narendra Dev

‘Casupgl eranm Sienwpsaiul L @bHu Colw seneeuri wimi?

A)  @uCxpdly Ypsrns _ (B) g Ypsred
(©C)  Hsz76EREHET HTEL (D) wCrpdly Coeu

SAGS/19
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1. The Buddhist scholar vasubandhu was patlonlzed by whom?
M Samudragupta _ (B) Skanddgupta B
(C) Chandragupta I (D) EKumaragupta

L5s sow oINlET eusubgiemel SLsilGsaur wmm?
A) sypsSyelst g 4 B) ovahs GLST
(O psomb gBSlrelsT | ; D) @omELst

18. © Match the following : |

(a) Sangama dynasty - 1. Saluva Narasimha

(b) Saluva dynasty 2. Harihara and Bukka

(¢ Tuluva dynasty 3. Tirumala .
4.

{d) Aravidu dynasty _ Veér_ Narasimha

(a) ®»  © ()

W 1. 3. z 4
® 3 { - 2
Kz 1 4 3
D) 4 2 1 3

SpssearT_sunann QUTHSES :

(a) Fm&wL ellbstd .I L. amemel Brébme

(b)  gm@neu aubsd | _ 2. anflasrm LD,LfJg]JI:b L&ST
(@)  siEseanhan 3. e

@ oyreSE aubald 4. &Sy prfibwi

() (b) (© @D

@& 1 . 2 2 4
(B B 1 4 )
© 2 k. 4 3
D) 4 2 1 3

SAGS/19 2 8 o




19. The Minimum support priceé in India are récommended by

(A)  Reserve Bank of India (RBI)

M Commission for Agricultural Costs and Prices (CACP)
(C)y NITI AAYOG |
(D) National Baﬁk for Agricultﬁre and Rﬁral Developmént (NABARD)
Qpduraid @;-mmsguf_g Aevasmar LABEIILE
(A) @(F_F)QLU farres auradl (RBI) |

(®)  Courmai Qsway pmitb slleowisen sipsid (CAcé) jou
(©) AP Curs

(D)  Geuarment wpHmiLd 2arys (peCanppgdnsrer Caslu euridl (NABARD)

- 20. - is levied on the incomes of registered companies and corporations.

(A) Personal Income Tax

M Corporation Tax

(C)  Custom Duties
- (D)  Excise Duties
Ldley Qe L Sipeaniser oppib Osnld Bpeaisdr 55 A SEHLLED euf
A) - seflpui eumoar auff |
(B) .'@gn@@ auff
(©)  swsafl
D) Gsi@urger

& - 9 - - SAGS/19
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21 Assertion (A) : Green revolution is limited in its épati'al coverage in India
Reason (R) @ Green revolution is confined to five crops only
M Both (A) and (R) are correct and (Rj is the correct reéson of (A)
(B) Bﬁth (A) and (R) ére correct buf [R) is not the correct reason of (A)
(C)  (A)is correct but (R) is incorrect .

(D)  (A)is incorrect but (R) is correct

aapm (A) © @pdunedlé Ls@wlirl g S o wirFlabisEsss Ll Hons &@é;esuul'_@

el g :
airyenrd (R) : @'fﬂllil_fﬂl'_ll_ &he) U uﬁ]ﬁ&.@é;@'ml’_@@w' Lgentols Ly a@@ﬁuu.@\g,gum;;@.

A) A ybd (R) b afl (R) eremmugy (A) Gamen sflwimen smyewrom@Ld
B) A wub(R) e %eﬁns’o (R) ereiuigy (A) ssmen sfwmar STIERTLD S|V
(©C)  (A) sl yered (R) saum

D) - (A) saumy e (R) af)

22.  The short form of Three Pillars of the ambitious Direct Benefit Transfer (DBT) sch:eme of the
Government of India is known as

W JAM
(B) PMJDY
(C) NABARD

(D) | RRB

@ndlu srarmssslear Chrg ueamd wrHnes S L sar epermy giremsar arané: a;([r;,g;lliu(asug,sh FH(HEHLD
(A) JAM '
(B) PMJDY

(C) NABARD

(D) RRB

SAGS/19 e | 10 s



5

Match the percentage with principal gases of atmosphere

(a)
(b)
(©

@

(e)

«4(.2 B

(B)

©

D)

cuelioaim_asgler apsereno aumusamanid, Sisen s56Ss Sarafloanib QUImEES.

- Nitrogen

O-Xyge n |
Argon
Carbon di oxide

Hydrogen

(2) (b) ()

o

8. 5
1 : g 2
2 3 4

()  eoplygern

(b)  <dedigen

© yismar

@ ° st st

(e) emami e |
@ O - ©

@ 2 3 5

(B) .-3 b’ B

© 1 3 2

o 3 4

.

2,

1.

(d)

]

0934
78.084
20.946
0.0005
0.036_

(e)

(0.934
78.084
20.946

0.0005

10.036

(e)

4

[ubgd

11
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24.  The highest annual range of temperature observed in

(A) Equatorial region : - (B) Tropical r_egion.
\V Sub-polar reglon ) (D) Polar region
a1 () Glauliu aﬁlu_lr'njg%l cgqgﬂas_ﬁn asrr@ﬁTL'Ju®Lb rCseid
(&)  ywssu Crams GrCssid ' B) wwer waT_e GyCseD

(©  2u-gimeu GrGsew _ ' D)  si@ma AyCged

25, Which are the endogenetic force?

1. Folding

2. Faults |

3. il

4. Joints

(A) 1lonly _ ; - (B) 1,2, 3only
@ 1, 2and4only (D) 2and3only

lﬁlehéu@wemurj;g& GTenGY L;QS] uleir o1&& @&uabun@%eﬁ?
1. gliyser
2. Mereyser
3. da
- 4. .@mmm&é‘r
A) loi@on ' S B 1,2 3wl@
(€ 1,2 wpmb 4 o @ D) 2wpgid 3w G

26. Which of the following is called as ‘biological catalyst’?

_(A) vitamin . M enzyme

(C) fat _ (D) carbohydrate

‘%Epaaaampaug)@mﬂ@] ‘o uSlflwid Gﬁ}Gﬁ}GﬁTUC_EHhﬂ GI'G&TLDEE)Q&BSEUL]@@[D@]?
(A)  eveuliiflar | - (B) eranensb

(©)  Qamapiy - : (D) smiGU renaml Gyl

SAGS/19 | 12



27.

28.

29.

- In order to deposit two metals simultaneously at a cathode, it is necessary that the two have

(A) the different deposition potentials

W the same deposition potentials

(C)  zero potential

(D) lowest potential

[AbEIC] g@wnar'm&@m @Gy Crrsdle erdlmeneumuile eSipLig.e| Celieusng @) reammmib
@A) Gaumul L uige| W6 2i(pssrisamens Cerari ihés Ceuemm(Hib

(B) &mmm& u[.q_éq W6t (S smsmans G snemg és Cauem(Hid

€ ygghu e @1@5{@(&5@5{5&; Gleeiiy. (H&a Geue (HiLbd

D)  Bes@opps W si(pasnsmers Aerary més GoudmrHib

For the radiation from the sun A4, =4.8x10°m. and Wien displacement constant

b = 0.289 x 10?m Kelvin. The temperature of the sun is

(A) 512Kelvin B~ 602 Kelvin
(C)y 702 Kelvin (D) 812 Kelvin

Glualdmps aumbd sfielefing A, = 4.8x10°m  wpmgn ewer @LuQuuwiey  wrbled

b =0.289x10" m Qadeddn erandlpHsmd @flwueiler Qeuliu Hlana

(A) 512 Qasceler : B) 602 Qadelar

At . P07 Deelia ' (D) B2 Gsdaie

The time period of equation y = 6 éin[dﬂt + g) s

(A) 4 seconds (B) 2 seconds
(©) 1 second \W’ 0.5 second

y = Gsin(flmt + %J GTEID ELOETLIM g DETET Dienea| Chiib

@A) defpmg ' . B) 2dipmy
©)  le9mmg (D)  0.5&9Bmy.

13 | : SAGS/19
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30.  Graafian follicle are characteristically found in the

(A)  ovary of frog ovary of mammal

(C)  thyroid of mammal (D) testis of mammals

SymQwien Linel e eramuigy - an eNifarsSern LeTUTs 2 dTers).

(A)  seuameruller jairl_s0 ' (B)  urariguller oiar_asid

(C)  unmgnlgulles ensymiidh - D) wreniguler ellEss0
31.  Consider the following statements

Siamese twins means
(i)  Twins fail to separate completely from each other
(i) Twins have no variability - |
Choose the right answer
(A) (1) is correct and (ii) is wrong
(B) (i) is wrong and (ii) is correct
Both (i) and (ii) are correct
(D) °~ Both (i) and (i1) are wrong

SDFRTL eUTSELIhISE T souat]
- Awidlen QUL enL Wi eTeLIg) - _
O Gnelwisd goallLd@bs ehal weowns Afurdosseo
(i) @rieLsailomCGu Caunur® sreamiu@aidame
eflwmer eleanLeow CaTHOSHEE LD
@ O ef (i) peup
B) Q) seumy (1) &
(O ) whm @) s
D) () wombd (i) seug

'32. Both extra and intracellular dlgebtlon take place in

Wﬁ Dugesm : (B) Star flSh
(C) Poly stoma ; : (D) Turbellaria -
@&Gb%)_]éi@ﬁh@ﬁ) Hmb GFdgysE QeualGuiuyn defwrard paL-Gumid e 2 wWiflan
@) quddur (B)  plebSmSen
(C)  ureGerGLmom D)  ciuaGafiwr
SAGS/19 ; 14 ' ' o e g




33.

34.

In forensic science, ————— has become useful techﬁique to i1dentify and found
relationship of a person. ' '

\W’ 'DNA finger printing
(B)  Antisense RNA technique

- (€C) ' Animal cloning

(D)  Tissue culture

- sl yflellweiled, e wellgenan SjanLwimerid asrr@ygsﬁ Hmibd 2 pellenipamme S i 2 s

| Qsmplm mIL LD | '
(A)  DNA eflgebCrens Lifley
(B)  opeingGeet RNA technique (RNA QgmflhmLib)
(©) Aevrifer &Cenmerflra

(D) fseueminiy

How many days before the notice of impeachment motion against president has to be given
‘to president of India?

(A) 1 month (B) 10days
14 days _ (D) 21 days
THEDET BILGEHESE (PHHTS Glgifs Semaelmas crdyrear QrrasiGrrs edsmreamen oiblediy
aupmIsLILL. Caerr(Hib?
(A e wrsb : _ B) 10prisdr
(©) 14 priser | (D) 21 pm ser

In a state, money bill can be introduced in -
(A) © legislative council only
M legislative assembly only
(C)  either legislative council or legislative assembly

(D) legislative affairs committee

@it rblaogslen, Fig wGsrsr siflupstuBssiubeaug
(A) sl e (3[.060615)_@ udléd ol Hib
B) sl L OCUFeaddD L (i
(C) gL erm Caweney 2jeag) &L.'_l._l_'JC?u penaiuded oM psliuRSsULMD
D) s LBwuppd eleusTrmsdr G
A6 . Cat oW SAGS/19
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36. Who is the Chief Architect of the local government in India?
(A)  Lord Carnwallis : (B) Lord Dulhousi
M Lord Rippon A, (D) Lord Canning

wimt @bHwirefe 2 erarm & iFemhssElan (pSaTentowTeTell (SHems) GEmERLpESLILHLIGT -
(A)  sriareurellen Gy T (B) Léanas Gy =
(©)  MAduer 9y . . (D) srefs Gy

37 Match the following using codes below. :

Name of the commission : Ministry
(a) Central Information Commiésion . Ministry of women and child de‘;relopment
(b) Finance commission . Ministry of social justice empowerment

(¢) National commission for women Ministry of finance

= W b =

(d) National commission for SC Ministry of personnel

@ O © @

@ 4 3 i 2
B) 3 4 9 1
© 1 =+ g 4
D) 2 1 4 3

ELpser_euhenm @urr@g,é] gilwmen eflenLemw CoiHEsH s D
penerTidGHlen GlLwir L B DI DFFSHLD
(a) wsHwu ssaie %@mwﬁm LY 1. LD.EEG’I?‘WT DML GHLOHESSHET (Suﬁd:n._m@
(b)) fE ypevennd 5195 B8 ORI 2pp@TEE si@sssi>

(© Gsiuw i gafliT.cpemenTiiid Bd ienesid

(d) GCsflw g)rr!apgg,ljuL(El_rrr'r %Gﬁam@b Liamflwimari Ha) DEDFTSHD

@ O © @

Q) 4 3 1 2
(B) 3 4 o 1
© 1 2 3 4
D) 2 1 4 3

SAGS/19 ' | ' 16



38.

39:

40.

Assertion (A) : Women who have been married to Indian citizens can acquire Indian
citizenship by means of Registration. s

Reason (R) ; Citizenship Act was enacted in the year 1956 by Indian Parliament.

(A)  Both (A) and (R) are true, (R) is the correct explanation of (A) _
(B)  Both (A) and (R) are true, (R) is not the correct explanation of (A)

O (A) is true, (R) is false
(D)  (A)is false, (R) is true

gamnm (A) : @B Guwssmers SHmweand Celg Cerar.. G stmra;m udley QFleugen
ppelons BbEuis Glquyflanoanis Glmedmd
agryenrd (R) - AL [BTLT(@BLOETM & Hled 1956-b 24,6007 (B Glgflening FUL D

BlenpGaudmi_Lg).

A spm (A) wigbd srrard (R) @rar(b 2 adramwwrgd, saping (A) smrearbd (R) creamg)
. sflwrer eflerdginmgio _
(B)  spm (A) womb srged (R) @rear@n 2 arawurgd sapilneg (A) smerbd (R) eremwg
gilwimer eSleTdsLn660 x. '
©C) eapm (A) 2 a@menown@d, sryemd (R) seuprgid
(D)  swmpm (A) seuprE, sryeab (R) o amepouwim@h

Rajya Sabha has the power to create an All India Service through a resolution supported by
. -~ majority. :
A) 172 ' (B} _1/3v

(C)  1/4th ‘ \@9“’ 9/3rd

Ui Quburereouder ef Storasas HanCapmeigear gpaonrsl LSsns e
<fle @pH Ul uaflaw o HaTEED SHSTD WwrHlabsTmeusE 2 eTearg)

A) - 1/2 (B) 13

(C) 1/4 D) 2/3

Which is the first state in India to have a blood bank for cattle?

(A) Rajasthan = (B) Haryana
A Odisha (D) Punjab
(PED HTOBEL_&(EHESTEN Q7SS cuhidl 6Thg wrblevgslen G]g;rri_réiaau;_u'_(ﬁehmgj?
(A)  prgevsmer " B) anflwmrernm '
(C)  euevr (D) wEgpem
17 : SAGS/19 .
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41. Name the web portal launched by the ministry of Human Resources Development for

Sarva Shiksha Abhiyén _ |

(A) Sarshi ' (B) Gurusha

(©)  Shikabhai f stagun

maﬁlg)mﬁ CubuT () giopured sier ddasr ondurear HlLsdpsrs Asrmsiiul L ey
seneaumuie 6rg? ' | .

(A) -@q:r'r@_@ b o B) GG

(©.  fdsmumis @) esrgen

42, Name the Chinese scholar, who stayed couple of years in India to study and copy Buddhist

scriptures?. _ .
(A)  Husan Tsar}g (B) Hieu Tsang
(C) Kamat Potpourri _ M’Xuanzang

55 a;eb@euL@é;aaGméT Llg & @pﬁu_m@ﬁm) @ rer(D) e (ha6T Sridl Fer idl@hT wmri?
(A apoger sm : (B) aprou sm
(€)  smol umiyfl ; g (D)  @anemn

| 43.  What was the theme of Maneka Gandhi’s book titled “.Brahma’s Hair™?
M' The legends of Indian Plants -

(B) ' The légendé of Indian A_nimals

(C) Thé legends of Indian River

(D)  None of the above '

‘Wbwrellen (plg ererrm Gearar sThdl erpu Hredlem =g LiLienL 55@'&,51 wIrg?
A) @pdwu sreurhisaiien e &aansg
B)  @pdlu dleom@satler Yrrawsaamns

(€©) @b eymsailen LrTaTssms
D) Copsbdlu egey Béena

SAGS/19 18 _ <



44.

45.

46.

Where did Gandhiji hoist the flag of India on the midnight of 31.12.1929 fénowing the
declaration of ‘Poorna Swaraj’ and setting 26.1.1930 as the day of independence?

. (A)  Kolkatta : M Lahore

(C) Madurai : ' B (D) Mumbai

26.1.1930-g ‘yiew seuyry flefiimu @y, @S a;es;’f;ﬁg premrs  hledlsg aarrfgﬁgé]l
31.12.1929—;&1561%1‘?}5@5]61) @hdws Qamgenw erhg 2erfldy erpmlemi?

(A)  GeresTgsm : - (B)  eomaar

(C) ey : D) qpdenLs

Which game has originated from Tamil Nadu and is the National Game of Bangladesh?

(A) Basket ball (B) Chess
W@ Kabaddi (D) Cricket
sppTCiged Comemblul euris Coegdar Coohu aflenemum(H 61g)?
A)  smerLiumg) ' - (B) smymsh
©) sug D) wleLlubg

Whose autobi()graphy has the title “Tiger’s Tale”?

(A) Mohamad Azarudin

: W Mansuri Ali Khan Pataudi

(C) *Sunil Gavaskar
(D)  Sachin Tendulkhar

WTHenL W SW Flleng ‘enL a6 (St_ei)"sra'nrg)mb@éﬁa;uu h&ma?
(A)  psbng SevmBSHe

B)  wengT dleTen L GLmg

©C) el seuTevsT

(D)  g&dlem QLenBedam

- Which film maker founded Gemini Studio?

(A) Gemini Ganesan : (B) Nageswara Rao
(C) Thevar | @ S.S. Vasan
Qsidlafl evigCuim wirgmey QQWLEJ&DuLL_@J? i
4) dgubeafll sCemaen ; (B) mrGseveur greu
(©) Cseur _ (D) GTGIV.GTGI). GUITEETT
19 SAGS/19
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48.  Given below are the series of specific pattern

s

5 13 29 61 125 253
7 @ ® © @ @©

What will come in place of (d)?
Ay - 79 (B) 127

(C) 143 N - N 157

£Cp QamBssiul L @gﬁlulﬂ] L2 sHlaeaners Chiprieien BYmasm_isafle (d)-en LD@L'JL[ ST&ETS.

5 13 29 61 125 253
7 @ B ( @ @

@ 7 ®) 127

7
(C) 143 . (D) 157
49. 6 m-en' can complete a work in 50 days. In how many days 10 men finish the same work?
A) 35 , (B) 45

\gpf 30 S | (D). 40

2m a6 g Geuameenws 50 prisafld apliuf erafld 10 eyl s6r assamer Bl sefld <ibs
CauanevaniLl (Lpig LILITT&HET? ' : : .

A) 35 £ % . (B). 45

€ 30 " ' (D) 40

50.  The surface area of a cube is 384 cm®. Find its volume
W’ 512 cm3 (B) 412 cm3
() 346 cm? (D) 343 cm?

as:amrg,m{&@sh Lty 384 cm® erafléd DI HET HETMYEITEL GTEIGH? -

(A)  512cemd r (B): 412 cm?
(C) 346cm3 : (D) 343 cm?®

SAGS/19 5§ 20, - ; ; €«



51.

Find the difference between simple mt(,reqt and compound m’celest for a sum of Rs. 8,000

lent at 10% p.a. in 2 years

W Rs.80 | (B) Rs. 800

(C) Rs. 40 ' . (D) Rs. 400

 mumi 8,000-@ 10% an'y eSgib crafld Qe pemPaaicr HoLsEh @I () angiEh saf

eI Ig&@LD 2_aTer NS HILTaSHens5s STeurs.

(A) 80 epumi ' - (B) 800 gmumil
(€) 40 emumi (D) 400 emLmi

Find the area of the iron sheet required to prepare a cone of 24 c.m. height with base radius

W‘” 704 c.m? ' (B) 17.04 c.m?

0.704 c.m? - _ (D) 0.0704 c.m?
24 QeiS. 2 wypd wHMmD SjgUES %Um 7 Qs.B. e @ sibL SWITHES Gg,ﬁmeuu.metrr @@LDL]. :
SETSS 6 LFUL STems. :
(A) 704 Q.82 ' (B) . 7.04 Qe.182
(©) 0.704 Qs8> ' (D) 0.0704 Q5.182

Which one of the following is not equivalent to p. oq?
@ (lpva)alpv la) |
®B) (lpva)ala—>p
© (lpvavipv o)
\@5"' (TPA—IQJV(pAQ)
Spssam_aile o p < g -HE sonand Gdama?
_(A)_ Clpva)yalpvla) .
® (lpva)alg— p
©  (lpvavey e
@y (] PA 1Q)V(pAQ

21  SAGS/19
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54. - The simple interest on a sum of money for 3 years at 6% is Rs. 90. The 51mple interest on the
same sum for 6 years at 7% will be

(A) 90 - v.ir)’ 210

(C) 270 = (D) 180

6% aliyud 3 yaTdsErsE om Cstostar saflally @ 90 aalld <G5 QAzreasss
6 gy amdaEnsE 7% el iy Nl erafled safleu’ iy erueuere?

A) 90 B 210

(C) 270 (D) 180

5d. The simple interest on a certain sum of money for 2 % years at 12% per annum is Rs. 20 less

than the simple interest on the same sum for 3 ) years at 10% per annum. Find the sum

\y( Rs. 400 (B) - Rs. 625

(C) Rs. 750 (D) Rs. 800 -

@@ GO L AsTamssE ey 12% arayibCuig 2% amLsHo HaLsEh safle gureag)
2Cs QsrenssiE eumLenly 10% eaabCurg 3} amprsded doLsgd safl anigew efl
5. 20 @eme, erafle) 2iHs Gg,rrsm& GreUGUETEY?

(A) e 400 (B) em. 625
(©) . 750 (D) em. 800
56. A, B and C starts at same point and same direction to run around a circular stlation.

A complete in 252 secs, B in 308 secs and C in 198 secs. After what time they meet again at
the starting point
(A) 26 min 18 secs (B) 42 min 36 secs

(C) 45 min - _ M 46 min 12 secs

A, B, C erenm 3 muiiser @@U Lerafuder; Cr Hevsuder wpmd> Gy Crréder eulL g 2 @rer
aflenerwm’ () * Haller @hdmrisdar. ofd A eeameuir 252 Gmmgulaud, B 308 Gmmgulei,
C 198 Qpmguigyd eflenerwum’ (B HLeve s&HMEDTTSET. DEUTSET epeu(HLD GruG]un@g,j SembdGlw

@ g spSlinmiser
(A 26 Hldlb 18 Gpmg. , : By 42 Auflib 36 Qpmg.
(C) 45800b (D) 46 Adlb 12 Ammg.

SAGS/19 _ 22 . : > &



58.

Find the missing' number

3 7
6 | 25 11 |70 | 8
4 5
*) 2
© 6 D) 10
ol QUL L erair srains
3 7
6 |25 1 | 70| 8
4 6
@) ®) 2
(D) 10

& s

Find the missing value from the given alternatives

(A) 860

(9}’ 2880

[}

Wesau(md LSS elGULLL gl sahHiby

A) 860
(C) 2880

20160 | 4
?
480
96
(B) 1140
D) 3240
20160 | 4
?
480
96 24
(B) 1140
(D) 3240
23
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59. Three numbers are in the ratio d 4:5 and their L.C.M 1 1s 2400. Fmd their H.C.F.

M 40 (B) 80

120 ' (D) 200

elpemy eTewTsdar 3 1 4 1 D eremm @96&1;555]@ SiMLDBF)eTeTa. é{@.lﬂ)@ﬁiﬁ 1. 8.0, 2400 erefldy ojeumler
Lé‘i Qum.eu. smetor :

(A)_ 40 _ (B) 80

(o) 120 _ : (D) 200

60.  ‘Al-Hilal’ a weekly was published by whom?
(A)  Syed Ali Khan
(B) Ghulam Nabi Azad
(C) Nazir Ghulam Yaseen

M Abul Kalam Azad

‘oye-aflemd’ eremepb eurgprigdliflGeansenu Qeueflbl_Leur wirr?
A) owsws sidlsmer

(B) Geomb BHUl penrd

) e @enb wrfdn

D) Syd sTd s

61. Name the Chairman Of the First Round Table Conference of 1930
’ (A) L01d Duffrin

M Ramsay McDonald
(C) Lord Irwin
(D)  Lord Morley

(psrb el L Coms mln‘[r;rr@)\ 1930-é e:rnl'__l_uﬁt'_l_ Qurg) ieneUSHE SE@ELD GTHMEUT WITT?
@) Lofer Sy |
. (B) grbCs Gl&6Lmerra k)
©)  @iefdn Gy
(DY e Ay

SAGS/19 | : 24 "2 g <



62.  Who edited the ‘Devaram’ hymns?
(A) Nathamuni '
(B) Sankara
- (©) Vallaba

W Nambiandar Nambi

Coaumygens QGmESSeT wim?
A)  mrsepef

(B) smam

(C)  eudaur

(D)  BwQwTeaTLTT HHA

63. The largest number of seals of the Harappan Culture are made of ._
(A) Terracotta * (B) Bronze
(C)  Copper. ' W Steatite
‘Wl Qufluw erameanfl&asuileomrear anrlium (rf,rrasﬁaa‘&;ﬁsh (WPEEenTEET cTHETED g@eu m&SUILILL g7
(A) &L e | -~ (B) smfipd

(©)  Qewby | (D) Queén shser

64. - Who was the author of Kalingatuparani?

(A)  Kalladanar (B) Kambar

(C)  Ottakuthar _ \Q)’ Jeyamkondar
“salmiasglugenil-uller ey ARt wiri?

(A) - seerLaTi : B) sbuir

©) a@lisamssm : (D)  Qmwib Qemesrimir

65. | In which year L:he.first Buddhist council was held?

- 483 B.C (B) 387B.C.
(C) 236 B.C o (D) 136 B.C
Wpge CueaTss Fow wIET{H The %GW(B\IEG&L_.@U@[D@?
(A Flap. 483 B) d.qp 387
©€) Hap236 & ‘ D) Hapl36
< - 5 BB SAGS/19
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66. . Taj Mahal was designed by
w Ustad Isa (B) Ustad Mansur

(©)

Ustad Rahim (D) Ustad Shansher

STDDHTENED Elg QUEDLDSSHE T

Q) - odvss @y B scvss we@
(C) e26vgs radbd ' D) oevss agenGlogm
67. Identify the incorrect statement from the following
(A)  Shershah built Purna Qila .
W His real name was Khurram-
(C). He introduced Silver Rupiya
(D)  He introduced regular postal service

&G QarhHaEsliIul Laeugalle) Seunmer UTSGSHUSEnS el LITETLD &Tem s

A)
(B)
(©)
)

L;i]rraﬂﬁ dlevmene @Qq;fréwq:n &1Ig T
@eurs @uHGLwT @r’n;rLb
Qaur Ceuerafl prawuitisemer HiHlpsuLBSS e

Glou penpuiter 3iEhsas Gaeameieni yHlapsiLIHigSerm

68.  Which temple is also called as “Atyanta Kama Pallaveswaragrham”?

(A)

Sea-shore temple at Mamallapuram

M Kanchi Kailasa Nathan temple

(©)

@)

Kanchi Vaikunta Perumal temple

Iswara temple at Mamallapuram

| “eiflups s LoeGaiaarsTn” aar abss Garelld ie@ipdalinREng?

(A)
B)
(©)
(D)

SAGS/19

LOTLBE@L LD a&L_,['DIGSGﬁ)U'_éB Gamelled
&1EHS] NEHETEF BTSHIT Cameflér
&menél enau@airL G Lmrer GCarelle

DL Freveurer Gameda
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69..

Match List I with List II and select correct answer :

@
(b)
&)
@

L.ist.I_

Training of Rural youth for self erhployment
Natibnal rural emph‘jyn.le-nt progrémme
Jawahar Rozgar Yojana .

‘Rural landless Employment Guarantee
Programme

(a) (b) (© - @

List II

1980

1983

1979

1989

vl gwied L-sp uliquied IT 216t Qum@sd) sflwrer eflen_enwis CaiholsHése b

@

(b)
©
(@

@

B)
©
(D)

U iguied I

ﬁgn;ﬂuqm.@mm@ﬁg@éanm @Guﬁﬁ)é_t)@urrul Uiy LuSn &l
Gaélw serys G@ummmnu’_rm.l_;g ﬁl-_l_Lf-)

mauan CalenaeumiiLd L b

earys HlewnCori Cauemaaumiiy 2 midls S ib

@ ®» © @

1 3 4 2
92 3 1 4
3 1 4 2

F oy

—

- uliguwed IT

1980 -
1983
1979

1989

SAGS/19
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70.  During the year 2016-17, the disinvestment department was renamed as
M Department of Investment anc_l Public Asset Management (DIPAM)
(B) Department of Investment and Public Asset Maintenance (DIPAM) _
(C)  Department of Disinvestment and Public Asset Managemeqt (DDPAM)
(D). Department of Disinvestment and Public Asset Maintenance (DDPAM)

2016-17 oyib ety b LkiGseneT Smibull QUMb glenné@ LSwsns @l'_L,uul'_l_Goufr
(A) Department of Investfnent and‘ Public Asset Management (DIPAM)

(B)  Department of Investrﬁent and Public Asset Maintenancé (DIPAM) :

(C)  Department of Disinvestment and Public Asset Manageme'nt (DDPAM)
(D) Department of Disinvestment and Public Asset Maintenén_ce (DDPAM)

71. Which one of the policy is followed by the government during.inﬂation?
M Surplus budget policy
(B) ‘Deﬁcit budget policy
(C)  Compensatory fiscal policy
(D)  Balanced budget policy

Spsem_cunBled Lameliss sTaSSM oirame Grramu@m_er,mrrsﬁ 588 Qamerens GearunppliuG&mns?
@A)  e2uf fdfow Qardems '
(B) upprEE@D HHFme Asrarams
©)  sAQsinybd HHoe Asrdrams
D) eflsw BHHow Qarerams

72. = The Reserve Bank of India Act was- passed in
(A) 1921 (B) 1925
© . 1929 : WY 1934
@BHw enow auridlufen s LD @uiddu aiHLtb
(A) 1921 T ' (B) 1925
© 1929 (D) 1934

. SAGS/19 . 28



73.  “Weather sphere” is known as

MTrdposphere _ (B) Thermosphere _

(C) Stratopause ’ (D) Exosphere.
aureflene 21(H&EE eramanp&siL(Heug
A) g 306G - (B) Geulu phEG

(€)  uenLeuafl apenan - (D) Qeafll 2a(EE

74. In atmosphere, the altitude of 16- km to 50 km from the e_a_l_*th is called
| (A)  Troposphere | ' ;
(B) Thermosphere
(C) Exosphere

\}B‘f’ Stratosphere

auaﬂmaum_suggeb, el Copurida Gmpbg 16 8.5 apsd 50 .8 Gusm& 2 @6 LGSlenw ereuaumm
FDETD? ' :

@A) g Qs

(B) Qauin &S

O] Gaidspis.

D)  uveLw®BsEE

~75.  The upper most layer of the atmosphere is cal'léd as
(A) - TropoSpheré _ \ﬂif' Exosphere
(C)  Stratosphere - (D) Ionosphere

aueloa_asdler G ®Hi&E @eualrm enpsaiiuibdng
(A)  LGprCGumevooQuur _ B)  ECevmav g

(©) GﬁJLq_U'ﬂ(g.F_ITGthDDLGTUJI"T D)  owCammevwir

< ' 29 iy ok _ SAGS/19
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76.  Which of the following chemicals cén be used as.Rodenticides?
ti) Zinc phosphide
(ii) Sodium fluoro acetate
(iii) Thallium sulphate
' (iv) Dithib carbamate .
I(A) (i) and (1) only ~(B) () and (iv) only
M (1), () and (1) on].y. | | (D) (@), (1) and @iv) only
St Callulu s mrainsariadl Gemdiis ks Rl
(1)  sssprs LrevenU(®H
(i) Cemguwib CiEpCrm A GLL
@1i1) sredlwib sGuL
(1v) enLsGumr asrrr‘ru@mj'_
(A) . (1) wHmb (1) LDL'_@LES ' (B) (i) whmd (iv) ol Hibd
(© @), (i) wpyid (i) w G - D) @), @) whgd (1v) wBHid

77.  The acidity of CH,,NH,, H,O and HF molecules should be in the order 3
(A) HF < H,0 < NH, < CH,
(B) HF > NH; < H,0 > CH,

(ON HO<(‘H <I\!H < HF

W on, < NH, < H,0 < HF

CH,,NH,,H,0 LijQrLi) HF oy dlw epasmmpsaien oflasge aflms:
) ~ HF < H,0 < NH, < CH, '

(B HF > NH, < H,0 > CH,

6. HD = CH, < NH, < HF

(D) CH, < NH, < H,0 < HF

SAGS/19 | 30



78.

- 79.

Einstein got Nobel prize on which of the following works _

(A) - Mass.-ener.gy relation

(B)  Special theory of relativity

' Photo electric 'equation.

(D)  Equation for stimulated emission

el el SpEGETL 6Thg ylie|dsTs Crrue ufls Auppm
@) Heop-apod siwamn® el |
B) Aoy ermwe Camium@
(C) qeflbler swemum :

D)  grewrtul L 2 Blipe swenr(h

Match the following :

(a) Myopia - 1.  Bifocal lens
(b) Hyper Metropia . 2.7 Cylindrical Iens -
(¢) Presbyopia 3. Concave lens

(above 45 years of age)

(d) Astigmatism _ 4. Convex lens

@ ® © @

A 4 3 1 4
@ 3 4 1. 2
© 2 4 1 3
@™ 1 2 3 -4
CQumpssis
(a) almwmuu mreney - 1. @@@&Liq aflcvenen
(b) . SITLUTTEnG 2. o (mever afldena
(c) Qnr;n_'iu mreney 3. Y elldama :
' (4.5 aULIGIGHE GLos)
(d) a@l'_&ﬂulﬂwrap ' 4.  @eil eflevene

(@) (b) (©) (d)

(A) 4 3 2
@ 3 4 2
© 2 4. g4
D) 1 2 3 4

31
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80. On 1¢t February 2016, WHO declared. virus as dangerous vector disease:
(A) Dengue '
(B)  Chikungunya

& Zika

(D) Melioidosis

1 @dreul 2016, WHO e eneuravCprenws s Qamg w QeusLnr Cpmuns sifleilsss

A) OLig
(B) Qé;&rabr@@ﬁ]mrr
(C) Sar

D) QueliedlgCumdlev

81. Which of the following is not a function of transpiratidn?

(A)  uptake of water

\ﬁ( excretion of minerals

(C)  cooling of leaves

(D) uptake of minerals

EG Qer@sslulGdrardla ergy Srrells Gumsdler Lanfl Gdeame
@ fredesse -

(B) saflorsed QauallGunpe

© @owuian el

D)  sefloisd o deflwssd

82. In the presence of ——————— protein is differentigted from carbohydrates and fats.
N, - ' (B)  H,

ir

€ 6 ST

LTSS, S;rrr'r@ﬁrrsm@_n)l"_@m‘_@&s@i”r wopb  Gereplysellambg _+— 2_GTeTSHTa

CeaumuB&Ema.
@) N, ' B) H,
(&) R D) C

SAGS/19 - 32 - - - <



83.

84.

85.

Which of the following article authorise.s parliaments to form a new state?

- (A)  Article 2 _ : @/ Article 3

(C) Article4 . _ , (D) Article b

Yereu (b el Flsafled arg) LFw wrBlogms o meurss LTTTERLEDSHNEGE é;é]a;rrrjgsmg, .gmﬁésé!mgd?

@A) 82 | _ (B) 983

© a4 O @85

How many political parties were recognized as the national parties after the first general
elections, 19527 . ;

@ 3 o

© 5 D) 6

wse Qurg CaisaisEt: (1952) Gpe Gr,&,g_smm sl flsar Caflw sl Saems omsNasiu Lar? |

@ 3 ®) 4

© s . D 6

The constitution of Jammu and Kashmir came into force on

(A) 31 October 1951

- (B) 26 January 1952,

“(C) 26 January 1955

M 26 January 1957

© IDp-&TeigLST Aot BaNL_(PenM& (3 aubs <2p,amT(h

(A) 31 =o86CGLmur 1951
“(B) 26 gmanaufl 1952
(C) 26 speweurfl 1955

(D) 26 ganeufi 1957

33 = SAGS/19
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86.  The parliament passed the administrative tribunals act in
(A) 1982 (B) 1983
(©) 1984 ; B 1985
urrgrr@m@m}g,gﬂ@b blireurs gr‘ruumu 11D @M@QQQL;I_ e
(A) 1982 \ (B). 1983
(©) 1984 (D) 1985

87. Which of the following is correct regarding human rights

1. Universal Declaration of human rights prdclaimed on 10 December 1948

2. National Human Rights Commission came into existence in 1993

o The chairman should be a retired chief justice of India

4. The chairman and members hold office for a term of 5 years or until they attain the age

of 70 years

(A) 1,2and3 . M"’ 1,2 3 and 4

(C) 2,3and4 ' _ (D)_ 1and 3

weflg o MNenwadr updl ECp Aar@astiul (Herar eursdlwsdle erg sflwreang)

1. e osermellu weils o Meanwsdr YraL_eamnb 10 .Lq,ELbI._II"I' 1948 Qasr@Hissiul.Lg)

2. Gséls waflls aﬂeﬁ)m&& <penamrd 19931h <y,edr(h ﬁ@éju UL g

3. . Gsflw wafls o Manset mamugder soaat @iy Aupp @BL smaaLo ‘@g]ug]mrreur‘rr:r
4.  GCgflu wefls o feawser %maﬁmgﬁm ST WwHmb 2 merTseT 5 amLsHDE

usefeudliim (70 euwgis@er)
(A 1, 2wpmb 3 B) 1,2 3 inpgid 4
(C) 2,3 wpmw 4 ' D) 1wopmbd3
88. Who was the head of first administrative reforms commission?-
(A) Hanumanthaiah (B) Rajamannar
M Morarji Desai _ ' (D) Charan singh

Wp&e Bliteurs &Tdl(més e idler Seeeunrs @) (mboeT
(A apamibsuIwr _ (B)  prggwenanmi
(C) Comrymadl Cgami (D) syeir Hie
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89.  Which among the following football club v?on'the Spanish super cup for the 10th time?
& Real Madrid . (B) Chelsea
(C)  Arsenal - o (D) Manchester united

souraflay @riui Gemimuemw 10™ weapwrs Gaiern il 6rg)?
A)  Musd Colfic _ (B) Qeoer

(C)  =yrélenmed . - (D) s weer L

90.  Where is the longest haﬁging pedastrian bridge situated?
J Switzerland ' (B) - France

(C) © Germany ' | (D) _'I_taly

2 @8l la Heromear LrgsTil CgMmIE LT SebgdTaT BT 6T&I?
A sefllsrorbs ‘ (B) Gymenav
(C) CerGwesdl . Y = (D) @ggnﬂ

91. Which nation has unveiled plans to build the first city Oﬁ mars by 21177
(A) Japan : (B) Indonesia
(C) Iragq W UAE
Qasusumis Sysslar 21 1‘7.324,&. L6 DEET BFETES e éreamnésasu@urrsug,rr'ﬁ <bleflgs B erg)?
(A) .gu umesr ‘ B) @rCsrCaradlwim | '
(C) - morms . (D) 'u_;.GJ'.@ (United Arab Emirates)

92. Which of the following state held National Biodiversity congress in 20177

() ~ Tamil Nadu . - ~ (B) Andbra Pradesh
(©  Odisha ' B Kerala
2017 CaAlw L@auif gl Lib erhs wrbloshld e Guhng?
@) sOppTH e e B) Sy GrCaeid
@ st (D) Gapenr
< . 35 ot SAGS/19

[Turn over



93.  Who wrote the play ‘Ratnavali’?

M Harsha ' ' (B) Kalidas

C) Prem chand (D) Tulsidas

réeelet] ereim Bl s5es GuhBlweur wri?

(A)  epregm (B) sreflmevi

(C)  YCmbsns (D)  serdlgravi
94. “India is a democracy. It is in our DNA” who said these words?

(A) Jawaharlal Nehru (B) ' Indira Gandhi

(C)  Morarji Desai MNarendra Modi

“@BAwr e papmus BrE. Gg ST FLaietc 2 @reng)” erem gl LiGu it W2

(&)  meuaniemed Crem . B) Gndrrarhs
(C) - Gwmyrire) Coami : . (D)  pCridly Cuomg.
95.  Who is the first Indian women to be a member of International Olympic Committee
Indira Gandhi : (B) Maneka Gandhi
M Nita Ambani | (D) Vasanthi Devi

siauGse @allbl9s s 1y u9d GLibQubn s @EHw Quemoem) wri?
@A)  Gpdyr arpdl : B) Cuarsr s
(C) Blomebure . D)  euspd Csehl

96. - Salinity is measured by
(A) Lactometer ' (B Altimeter
M Electric salinity meter (D) Seismograph

sL6 Bflar L6y cTaamed ienéali B dlenms)?
(A arsGLmBl L . (B) =i
(C)  crews Mé gellefliig B (D)  favCurdymi
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97.

98.

99.

100.

Which Japanese multmatlonal imaging and optlcal products named after Buddhlst
Bodhisadva?

Canon ) - (B) Toshiba
(C) Konica . (D) Olympus

ahy @Cwein whmb ealwe swurfliysmer GQewupd Boeasdar QuuT yss gmed
Gurdlasgieufer QuwpTd Bpetiul (Hérarg :

@) Gsamar - B) Greflur

(C©) Careflsr ) _ D)  gallbuey

What car was being driven by the racer Aswin Sundar when it cxplodcd after hitting the
divider in Chennai on 18t March 20177

(A)  Audi ' B) innova
(©)  Jaguar “ s - @9" BMW

18.3.2017 ét[GDTg]J ST Lih&LL eﬁrjrr Sicveien spsT @ ns Qeam Cumsy Gsumrg,gu Agduw amfler Quuwr
GTEHIEn ?

(A) bl _ J | (B) I@eh@mrremr
©) mr@eumt - (D) 9.erb.LiQemy

Which Sultan of Delhi died after falling from his horse during a polo match?
M Qutubuddin Aiback - _(B) Ragzia Sultan
(C) Jalaluddin Khalji (D) Alaudin Khalji

GunGeom Gﬁ]smmu_lmq_ Qumrps @Sapulie @@{_F;QJ g@.lﬂ‘ﬂ eSlphgl 2 uiflphs QALced Febgmarlein Guu_lrr

GTGITEHT? :
A)  EsuSer oLGEus B)  padlur sdgren
(©) _ e Sen ez D)  sereSer Heag

Which character of the Ambassador of the 2020 summer O]ymplcq'f‘ '

M’ Son Goku : - (B) Naruto
(C)  Sailor Moon (D) Luffy
FbWi Gedlbiéan 2020—ain Seienid 6rg)?
(A). - gon Camam ' - (B) sCrm Gl
(©)  Qevule pper - D) w9
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